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10. Note that the answer once filled in ink cannot be changed. |f you do not wish to attempt a question,
leave all the circles in the corresponding row blank (such question will be awarded zero mark).

11. For rough werk, use the inner back page of the title cover and the blank page at the end of this
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17U0/102/25 Set No. 1
Time/®W7 : 2 Hours/902 Full Marks /qoils : 300

Note/tC: (1] Attemptas many questions a8 you can. Each question carries 3 marks.
One mark will be deducted for each incorrect answer, Zero mark will be
awarded for each unattempted question.

SRR WA WO W W T 3 9% W 2 WS
mlm%mwwmmlmmmmmm:ﬁ

(2] Hmmth&n-maaltﬂnaﬁvemmmmheapprqﬁm&tothﬁ
correct answer, choose the closest one. -

;?mﬁaahﬁmm-aﬂm%ﬁwmﬁ,a}ﬁmaﬁm

-2, - o TR e T

(3) This paper comprises of Five Sections. Sections [ and II are compulsory
whereas only one Section out of Ifl, IV and V is to be attempted.

e v vl wvet W R @@ [ @ 11 |
g A ebint B, @ I aiRard § suf% @z 0, v 3

(17) , 1
.T.0)
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Section—I

QeI
MENTAL AGILITY
(Compulsory for ali)

1. Term ‘Grey Revolution’ is concerned with
(1) milk production (2) wool production
(3) fish production - (4) horticultural crops
g ‘@t R frer o R wafRa 27

(1) 9 IO (2) ¥4 I (3) Tew I (4) B I

2. A certain number of halls can be divided equally among 2,3,4,5,0 and 7
players. What will be the least such number?
%9 15 B 2, 3, 4, 5, 6 @ 7 Raenfedt § soav-wwER i@ ST A 81 I A
& fraw de =4 wi?

(1) 400 (2) 840 (3) 420 (4) 12
3. In which of the following sectors, the maximum quantity of water is consumed
in India?
(1) Domestic work | (2) Agriculture
(3) Industry (4) Hydroelectric projects
gra F B 8 @ frw g F T @ W S e d WS @ R
(1) T, w4 A 2) 3 =
3) T # (4) Swidga wREsAe i

(17)
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4. 125% can also be written as
125% # Rer & ¥ 5w yon ff R w1 3oar 27
(1) 12500 (2) 12:50 (3) 1250 (4) 0-125

5. IfCHAIR is coded as XSZRI and ABOVE is coded as ZYLEV, how EVERY will be
written in above code?

3¢ CHAIR #15 frn smar @ XSZRI 3R ABOVE. 5.6 w11 @ ZYLEV 8, @
Mt #ig § fizy § EVERY g wme @ Rrar sRm? '

(1) WEVIB (2) VEVIB (3) VEBIB (4) VFVIB

6. In _certajn Cﬁdf: language * hot filtered coffee’ is written as ‘1 23, ‘very hot day’is
written as ‘356’ and Hay and night’ is written as ‘089’, how will ‘ very' be written

in that code?
M fift g wrer & “hot filtered coffee’ 3 1123’ amar &, ¢

2 . hiot day’
# 356’ for@r s @ @@ ‘day and night’ #t léi;%?‘;"'}'
§ it g , a 3@ F2 wm
(1) 3 (2) 6 (3 5 (4) 1

7. A person starts walking in the North direction and travels 5 km, then he turn
to his left and walks 10 km and then he turns to his left and overs a distance 0?

S km, How far is he from his starting point?

i T R 0 2 1y .

@mmaﬁwﬂmﬁ“ﬁﬂﬂt-s'mmim!,aaasm

mISkmaam%lmagaﬁﬁmmﬂm T W3
(1) 5 km {2) 20 km_ Q10 km (4} 15 K
3

(17)
P.T0)
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9.

10.

11

12.

(17)

In a row of 40 students Mahesh is twentyeighth from left and Suresh is
twentyfifth from right. If Dinesh is sitting just exactly in betwen them, what will
be the position of Dinesh from left?

40 BH H WA & IR T & wew i fRfy 283 mw W ¥ aw gy & AR
T ¥ 254 wm w AR Rw i fufy @ A F facge v 9 R, a9 v
36 oA H W1 8 e eud ud gif e

(1) 24 (2) 22 (3) 28 4) 23

A is mother of B. C is son of A. D is brother of E. E is daughter of B. Who is
grandmother of £ 7

g,BﬁﬂfﬁlC,Aﬁriﬂ'@ID,Eﬂmﬁ'ﬁl E, B & ¢ft %1 E F T #1
2

(1} A (2) B 3 C 4) D

Pointing towards a man another man said “ he is the son of my father’s sister”,
then what is the relationship between them?

(1) Father-Son (2) Brother (2) Cousin (4) Uncle-Nephew

@a@ﬁaﬂtmaﬂ%@@m&m ‘"R P B TR
w fafr § 941 amefat # w3 T oy B2

1) @ a2 W§ (3) FET T (4) SrE1-edT
Which ol the following words will come fourth in the English dictionary?

frafafigs weat § § HF-91 Yo AU wegwa ¥ W™ @Y
(1) False (2) Follow (3) Faithfully (4) Fallible

In the following questions if the given statement is true, then among the three
conclusions which is correct?

Statement : F <T, T>E, E<R
Conchusions : (I) R>T, (Il R<T, () F<E

(1) Only () s true lgl) Only either {I) or (il is true
@) Only either () OF 1= = \"1Vly (1) is true
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frer ot R mn e wft 8, ot aitfe Pred & @ wd }7
% : F<T, T>E, E<R * |
et . ) R>T, () R<T, (Ill) F<E
(1) %= () o ? (2) %= A (@) T (1) T R

(3) %awt T @ () T (0) & R (4) Fa= (1) g8 2

13. Which of the following words will come second in the English dictionary?
Frfties weet & @ F-w g iR weeww & gww @mo
() Magical  (2) Magnify  (3) Matermal (4] Magnetic

14. There are a sequence of four figures following some pattern‘as given below :

da AT fear TR, 4 Reit e ww F RY 0 ¥ .

IO

What will be the fifth figure in that sequence out of the following?
O F9. A 53 ®H R B d 3w gme

Al®

i ) ()

(17) |
| . F.T.0)
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15. In which of the following animals has teeth in its only one jaw?

(1) Elephant {2) Cow (3) Donkey (4) Rat
ﬁqﬂﬁﬁamﬁammﬁmﬁﬂﬂmaﬁﬁ? -
(1) wreht | (2) T (3) e (4) &1

16. Which of the following crops is also a source of edible oil?

(1) Pea.rl millet  (2) Wheat (3) Maize [4) Pea
Fer & e wow @ @@ da w0 oft 3R e s @7
(1) =G 2) (3) e (4) T
17, ‘ack’is relntm:l to ‘hdF’ in the same way as ° (hJ’ is relatcd to which one of the
following? |
acE’, ‘hdF’ & T 7@ FEfAw & 9 o FE
(1) dpH (2) fhil (3) ghK (4) giK

18. Income of A is 25% more than the income of B. Income of B in terms of income
of Ais

ﬁ‘ﬂiﬁl‘lﬂﬁmﬁZE%ﬁRﬂ?ﬁIBﬁmA%nﬂﬁqﬂﬁﬁﬁW%?
(1) 75% (2) 80% (3) 90% (4) 100%

19. 1i the radius of the base of a cylinder is halved, keeping the height S.a“.me’fhat
will be the ratio of the volume of the reduced cylinder to that of the original’

mﬁﬁm%mﬁﬁmﬁm)ﬂmmﬁmm,wm%aﬁﬁ
ﬁm:maﬁ,ﬁm@%ﬁﬁﬁﬁ%&%-mwm%m

§ frr f Fm TR AW
(2) 4:2 (3) 2:5 4y 1:5

(1) 1%

(17)
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21.

(17
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Find the missing number in the following series :
= Fmen § Gl WE ® T e
59,17, 33,—, 129

(1) 58 (2) 59 (3) 92 (4) 65

In the figure () represents shopkecpers, A shows customers and
represents farmers, how many are all these three?

fr R O z@mer, A alier awr | | el #t wRffRT w@ §, © 3R
w ot e € o wh o €7 A

(1) 2 .. @) 3 (3) 4 @46

The length of a minute hand of a clock is 14 cm. t will be the a
by the minute hand @i one minute? . What rea covered

TR AR ADAT 4omd E R R A

-

e dvew ==ft? “

(1) 14 cm? 37 cm* (3) T - (4) 10% i

15

P.T.0)
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23.

25.

(17)

if ‘eye’ is called ‘hand’, ‘hand’ is called ‘mouth’, ‘mouth’ is called ‘ear’, ‘ear’ is
called ‘nose’ and ‘nose’ is called ‘tongue’. With which of the following would a
person hear?

(1) Eye (2) Mouth (3) Nose (4) Ear

WA W T FE AR, TR e W IR, fF BT oww

;ﬁm'mﬁm‘m'ﬁ‘w’wm,a@mmﬁﬁﬁmﬁ
?

(1) g 2) 4% (3) & (4) FH

For sowing of which of the following crops, its stem is generally not used?

(1) Potato - (2) Sugarcane (3) Onion (4) Ginger
= 4 3 e owmm f gd & R amre: 3o & @ o a8 w27
(1) S (2) & (3) @ (4)

On the basis of ‘Shak Sambat Panchang’, the third month of the year is

(1) Chaitra (2) Paush (3) Falgun (4) Jaisth
‘Y WA 99T & IR W w1 dw adw Fra & | #l-ar 27
(1) ¥4 (2) o (3) R (4) I8

8
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Section—II
qvE—1I1

CHEMISTRY
(Compulsory for all}

26. When an ideal gas undergoes unrestrained expansion, no cooling occurs
because the molecules
(1} are above the inversion temperature
(2) exert no attractive fqrcgs on each other
(3) do work equal to loss in kinetic energy
(4) collide without loss in gnergy

@ ARy e aiE R R AW e R}, W@ I SN @ T whr R
wif wgeit w1

(1) g T F IR A R

(2) TH-gE W sy wat W faurs W b
(3) Wiow ST F WAV F TR FH T #

@) ¥ F Faw & B e #

27. The number of radial nodes in 3s and 2 p dl%itals respectively are

(1) 2 and O (2) Oand 2. @rdemd2 - @) 2 and |
3s 3 2p FgiA F fB=m nidt B e wow: 3

() 2ek0  @osaba  @idkz g9k,

9

1
27 (P.T0O)
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28. The eclectronegativity of the following elements increases in the order

%9 § w5 7 Peafife aet & Rga Homerwar @
(1) C, N, Si, P (2) N, S, C, P (3) &, P, C, N 4) P, Si, N, C

29. Among KO,, AlO;, BaQO, and NO}, unpaired electrons are present in

(1) NO} and BaO, . (2) KO, and AlO;

(3) KO, only (4) BaO, only

e @wE Mg 83 £, KO, AlO;, Ba0, ¥R NO; ¥ 9™ }
(1) NO} 3R BaO, (2) KO, 3R AlO;

(3) Hae KO, (4) Fa9 BaO,

30. The species having bond order different from that in CO is

co § fm wan ¥ ot ¥ amew F9 T I E
(1) NO° (2) NO* ~ {3) CN~ (4) N,

31. The compound that is not a Lewis acid is

i, st TEE v T R
(1) BE, (2) AICI, (3) BeCl, (4) SnCl,

32. For the reaction
CO(g)+H;0(g)= CO,(g)+H2(g)
at a given temperature, the equilibrium amount of CO, (g)can be increased by
(1) adding a suitable catalyst

(2) adding an inert gas
(3) decreasing the volume of the container

(4) increasing the amount of CO(g)

10
117)

[ ]
gcollegedunlaa
India’s largest Student Review Platform

—



17U/102/25 Set No. 1

wfaten % e
CO(g)+H,0(g) = CO,(g)+Ha(g)
R M AW W CO,(g) F wraEwn f A WP I A

(1) A W& R P (2) PEFT g A Rerw
(3) T ¥ FWEA RN TR (4) CO(g)  wmn R wgwR

33. For an endothermic reaction, the minimum value for the activation cnergy is

(1} less than enthalpy change (2) zero

(3) more than cnthalpy change (4). equal to the enthalpy change
w St sfEn & R, ofega Sui @ sftemas qm g

(1) afta o & & (2) I

(3) mm wikar § s (4) oty arfer F R

34. Consider a reaction aG+ bH -» products. When the concentration of both the

reactants Gand H is doubled thc rate {‘nc‘mwcs However’ when
the concentration of G is doubled keeping the concentration of B fixed, the rate

doubled. Thc overall order of the reaction is

affFn ® RER R _gG+bH > 3Rl 5@ ¢ M H [ aferet  wwm
Ak & T R, T T A TR wpedrehm H § A @ R
waﬁmﬁMWﬂ SLIR LB R T

AF FH 8
(1) 0 . @ 2 @ 3

1
e (P.T.0)
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35. 0.-004 M Na,SO, is isotonic with 0-01 M glucose. Degree of dissociation of

Na,SO, is

0-004 M Na,S0,, 0-01M =F¥ % T TAWEL Bl Na,S0, % Jumwr i
A R

(1) 75% (2) 50% (3) 25% (4) 85%

36. Nitrogen dioxide cannot be obtained by heating

= 7 A R R w TR seitess W T Ren W awar?

(1) KNO, (2) Pb(NO,), (3) Cu(NO,), (4) AgNO,

37. B(OH), + NaOH = NaBO, + Na[B(OH), |+ H,0. How can this reaction is made to
proceed in forward direction?

(1) addition of cis 1,2 diol {2) addition of borax

(3) addition of lrunsl 1,2 diol. (4) addition of Na,HPO,

B(OH); + NaOH = NaBO, + Na[B(OH), |+ H,0. T8 afwiwa =t ¥8 3 agm 1
e 7 i

(1) cis 1,2 SRS g W (2) "RE| T W

(3) trans 1,2 S AT T (4) Na,HPO, Fg W

38. The bonds present in N,O are

(1) only ionic (2) covalent and coordinate
(3) only covalant_ (4) covaient and ionic
N0, # R ¥eH JRE &
(1) Fa@ A - 2} wEEIF T R
(3) ¥aE FREA (4) TEHAWH W A

12

(17)
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43,

(17)
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Spin only magnetic moment (in BM) of the compound Hg[Co(SCN),] is
HgCo(SCN}, | e %t wwrfly yofx (BM #) Rt sm gwrn 1 v ¥7
(1) V3 @ N5 (3) V24 (4) V8

Native silver metal forms a soluble metal complex with a dilute aqueous
solution of NaCN in the presence of

fimd SofRUfy § NaCN % v vl ore % @17 3% ag vt = qodw
ug R = S 27

(1) Ny (2) Og (3) CO, (4) A

When MnO, is fused with KOH a coloured compound is formed, the product
and its colour aré

(1) K,MnO,, purple (2) KMnO,, purpie
(3) Mn,0,, black (4) Mn,0;, Brows:

T MnO, KOH % wm Tgs ¥ &, A % ofF HMw w1 finfor g 2, s ok
I W R

(1) K,MnO,, ¥rt (2) KMnO,, i

(3) Mn;0,, wrew (4) Mn,0,,

Among the followirig, thre-mest basic compound is
(1) benzylamine (2] aniline (3) acetanilide  (4) p-nitroaniline
RAafafes 3 8 #9 m g A 37
(1) i@ 2 e - 31 W A
3
(P.T.O)
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43. 2-hexene gives trans-2-hexene on treatment with
P 4 & e sffen 0 w0 2-Rwamm, ge-2-F9rE 2@ 27
(1) Li/NH, (liquid) (2) Pd/BaSO,
(3) LiAlH, (4) Pt/H,

44. The order of reactivity of the following alkyl halides for a S, reaction is

gﬁ%ﬁammmmsﬁlaﬁﬁm#wmwmw
?

(1} RF>RCI>RBr>RI (2} RF >RBr>RC1>RI

(3) RCI> RBr > RF > RI (4} RI> RBr > RCi>RF

45. The hest method tn prepare cyclohexene from CJJ’C]GhEREﬂDl is by using

BTG @ SREEET 49K F0 B TaR o0 0w O% I e a
grar #7

{1) conc. HCl + ZnCl, (2) conc. H,PO,
(3} HBr (4) conc. HCl1

46. The compound that will not give iodoform test on treatment with alkal: and

iodine 1is
(3) diethyl ketone (4) isopropyl alcohol

14
{17)
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werelt o ARdE W e uhem il $@ W Wh-w e @

27

(1) T (2) wamre

(3) ETEFaE RN {4 TR e
47. Benzamide on treatment with POCI, éive;

(1) aniline (2) benzonitrile

lé] chlorobenzene (4) benzylamine

JarmeE & POCl, & WY AffFr &4 w 2 R

(1) e (2) IR (3) FANARE  (4) SRRl
48. The coﬁmmd that is most reactive towards’ electrophili suhstitution is

(1) toluene (2) benzene (3) benzoic acid (4) nitrobenzene
wWREE aRre @ A Ted W Jivfhanier dfes &
(1) 2 (2) ¥R @) e PR, (4) TR

49. In the Cannizsaro reaction .
2Ph—CHO —<", Ph—CH,0H + PhCO,

The slowest step is

(1) the attack of —QH.ai the _cgrb‘c_)nyl group

(2) the transfer of hydride to thé Icar.bonyl group

(3) the abstraction of proton from the carboxylic acid

4) the deprotonation of PI—CHZOH

(17) 15
P.T.0)
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Femt sfufen §
2Ph—CHO —*% Ph-—CH,0H + PhCO;
g o e R
(1) ﬂﬁﬁa#ﬁ—onﬁmﬂl
(2) TRYES A FHEG [ T TR
(3) Fwiforefs 3w ¥ Wkt w1 gormw
(4) Ph—CH,OH #1 €MieiTH

50. Two forms of D-glucopyranose, are called

(1) enantiomers (2) anomers

(3) epimers (4) diastereoisomers

D-RIHINEI & @ 7 #2 9 &

(1) wefRemd (2) wnd (3) udftnd (4) SR FETY
a7 16
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Section—III
| QUg—III
BOTANY and ZOOLOGY
~ {Botany) |
51. Which ene of the following is a monogenetic parasite?
(1) Taenia solium {?) Ascaris
(3) Fasciola hepatica (4) Plasmodium vivax
e # 4 97 o SRR el 27
(1) R o h 2) T
(3 Hfusiten AR (%) R, JIA

§52. Which ecological pyramid is always upright?
(1) Pyramid of number
(2) Pyramid of biomass
(3) Pyramid of energy

(4) Both pyramid of number and energy

-8 iR e ada dm B 22
(1) s = At 43 A
(3) =9 # PR (4) €01 W@ I A F iR

53. Acid rain is céuscd by .
(1) CO and €O, 4p-905 wnd Q, | {3). $Q, and NQ. (4} NO, and 0,
secha el e oL A B0 ‘

1) co @ co, @ 80; WO (3 S0, w5,

a7
(P.T0,
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55.

26.

o7.

58.

(17)

Phyllode is modification of

(1) petiole (2) stem (3) petal {4) lamina
freits fras wn=R 27

(1) g (2) T (3) & (4) <P
Head or capitulum inﬂ;nrescence 1s found in _

(1} wheat (2) sunflower (3) mustard (4} onion
¥ o Frgem oo e S SR 7

(1) (2) g (3) wwE (4) A
An organism used as a biofertilizer for raising soyabean crop 18

(1) Azotobacter ({2) Azospirillum {3} Rhizobium {4) Nostoc
A B wam ¥ R AE IE F A UH o9 H W BA R
(1) Coleide (2) Tireglem (3} TR (4) AETH

Which one of the following is not a micronutrient?

(1) Boron (2) Molybdenum (3) Magnesium (4] Zinc
frr & @ F9-T1 UF GEUTE T 87
(1) = (2) uiferfeeTm (3) Hafimm (4) &=

Which one of the following insectivorous plants is also known as ‘sundew
plant'?

(1) Nepenthes (2) Drosera (3) Utricularia (4) Dionaca

b R B Pt 09 ¥ W N T Toweh 9 F WA o I
w87

(1) Faf3a (2) ErE R LT @) et

18
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59. Which group of three micronutrient elements is required for both

61.

(17)

photosynthesis and mitochondrial electron transport?

e wE & i gens o S vREn yenevm o aewTRe el
e % o smaws 27 -

(1) Cu, Mn, Fe  (2) Co, Ni, Mo (3) Ca, K, Na  {4) Mn, Co, Ca

Prolonged liberal irrigation of agricuiture fields is likely to create the problem of
(1) acidity (2) aridity (3} ﬁﬂﬁﬂit}" (4) metal toxicity

gt;;wmq:ﬁu\mqﬁ:ﬁa@aﬁmf&aﬂmﬂﬁmmﬁmm

(1) STy (2) q@&1 | (3) I (4) a1y T
Which of the following is a saprophytic angiosperm?

(1) Neottia (2) Eucalyptus  (3) Cuscuta (4) Agaricus
Fer & 3N o= Wwﬁa‘l el B3

(1) Frafe (2) FHfereem

(3) TP (Srw)- 4) i

Sandal wood oil of ‘Santalum album’ is a/an

(1) edible oil (%) essential oil (3) liquid oil (4) None of thege

W e e

] ¢ [0 presence of a sul
— phur contain iﬂg

compound

(1} Allyl sulphite~t@)~imgsia.. (3] Parthegin

19
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ToIZ TEYS @ % 4w ¥ G uF weRgE ueH o
(1) e aeens  (2) fa= (3) A= (4) ToTEA

64. Companion cell is found associated with sieve tube cell of
{1) pteridophytes (2) gymnosperms (3) angiosperrz  (4) Bryophyta
TER A 3k wrer AfeE S §g% 9 @ 91 Sl @
(1) R & (2 Rl § (3) wadieh & (4) SRIwET §

65. The osmotic pressure of 0:1 M glucose and 0-1 M sucrose solution are the same
because

(1} both are carbohydrates

(2) these are different compound having different molecular weights
(3) both are present in the same concentration

(4) glucose is reducing sugar while sucrose is non-reducing sugar
01 M T e w1 3R 01 M R faere F1 We 79 §WE g Rl
(1) 2t FEEGR B

(Q]RM—WWWWWWW‘W%
taﬂ’.ﬁﬁmmmi
(4)@qf¢hﬂ*ui,aﬁgﬁaaﬁ-wm%

0
(17 .

[ ]
gcollegedunlaa
India’s largest Student Review Platform

—



67.

(17)

Test cross invoives

(1) crossing the F, hybrid with a double recessive genotype
(2) crossing between two genotypes with dominant trait
(3) crossing between two genotypes with recessive trait

(4) crossing between two F, hybrids

¥R Fia wafim

(1) Flm#ﬁmmﬁm}mmm
(2) & sfreren & o e ¥ e o
(3) @ M R omvh-ow ¥ e Wi
(4)€IF1W%*€I3§T§

Munch’s mass flow hypothesis explain

(1) water flow in xylem |

(2) horizontal flow of water from cortex to xylem
(3) translocation of solutes through phloem

(4) absorption of water by rm:lts

¥ Ata velt el Reer 4o

(1) ™ % 9o SR,

2) O A T W Wi ¥ amew B ok

(@) weirm (drvares) gra Rrela SITr

(@) TE R W B e

2r
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68.

69.

T0.

T1.

(17)

When stomata open only at night they are called
(1) Photoactive (2) Scotoactive  (3) Nyctinastic  (4) Helioactive
¥& R (Tw) 1 4 g9 9§ 3R ww w2

(1) PrRfEE (2) whrerufaa (3) IfFAtes (4) eferdfaes

According to enzymatic theory to explain stomatal movement, which of the
following enzymes is associated with starch = sugar conversion?

(1) Phosphorylase (2) Aldolase
(3) Amylase (4} Invertase

TRt fagrm W Wﬁﬁm(rﬁ)ﬁnﬁﬁnﬁﬁﬁqmﬁmﬁ
®N = ey fafay gt 27

(1) RERREE  (2) Teeie (3) TS (4) TEEH
Which products of Hill reaction are used in Blackman'’s reaction?

R wfifr & e 3am ¥ Wi sedw afufFm # e smar 27
(1) ATP, NADPH (2) ATP, NADH (3) ADP, NAD  (4) ATP, NAD

3PCGA is first stable product in

(1) carbon-reduction cycle (2) CAM
(3) glycolysis (4) Krebs’ cycle
3pGA wem T S fore 27
(1) FEA-ITIE TH (2) CAM
3) TR ) P

22
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72. Spirulina is rich source of

(1) protein (2) fat (3) vitamin (4) mineral
R & feht aftm B 47
DL R TR (3) Frerfm (4) =R
73. Saffron is obtained from
| {1} Cocos nucifera . () Iberis amara,
(3) Crocus sativus (4) Costus speciosa
¥w e8I famr w47

(1) #1F% FibT  (2) ARG SmmT (slilmm (4;m@ﬂw>m

74. Which emsyme ig called molecular scissor?

(1) Restriction endonuclease (2) L:gaai:
) | | | (4) Zymase
P~ TN AR o e 37

75' Lmk bl:tW%n glymlyﬂiﬂ and KWrahe’ aveala I

- (1) citric acid (2} umaric acid’ (3) succinic acid (4) acetyl CoA

RN W Al B wh
CoA

(17) 23
(P.T.0)
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(Zoology)

76. Which one of the following sequences is the correct hierarchy of classification?
(1} Kingdom, Domain, Phylum, Order, Class, Family, Genus, Species
(2) Domain, Kingdom, Phylum, Class, Order, Family, Genus, Species
(3) Genus, Species, Kingdom, Phylum, Order, Class, Family .,

(4) Domain, Phylum, Kingdom, Genus, Species, Family, Order, Class
Brffom o o 3 F0 e R F9 7

(1) i, SWE-a, Wi, A, @, e, 56, S

) TE-8%, S, S, g, W, TRAR, 99, WK

(3) W, W, Wifrerd, S, 5, af, TREm S

(4) Twa-gr, S, W, a3, S, yfar, ¥,

77. The first land vertebrates—the amphibians, developed during the

(1) Cambrian period (2) Silurian period
(3} Ordovician period (4) Devonian period
HUw tﬁﬁmﬂ—mﬁﬁm'mﬁ fwfra gom w?

(1) HFEem F© (2) TRAREA HE

(3) AT F 4) TR T

nct ior in the
78. Who amongst the following wrote the Essay on the Principle of Population in

year 1798 7

: (2) Jean-Baptiste Lamarck
(1) Charles Darwin

3} Hugo de Vries (4) Thomas Malthus
( u

24

i+ M
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81.

17)

7§ 1798 A Fnafafea @ @ 92 Essay on the Principle of Population @ 417

(1) ok TR (2) F-amidw o

(3) &t & www ' (4) e

Which one of the following refers to a Chordate bt Tt 16 a ‘vertehrate?
{1) Labeo (2) Columba (3) Amphioxus = {4} Hemidactylus
ffafen & 3 B A 78 #fF Chordate %% wmT 27

(1) S (2) Hrewn (3) Wifwm  (4) Witaowm
Malpighian tubule of insects is

(1) a digestive organ (2} a circulatory organ

(3} a respiratory organ (3) an exgrelony-orgen

iz ) vt T § |

1) T s () R @) W A () I o
DNA matchiﬁg:; has shown thet humans are. closest 6

(1) Chimpanzee¥™ (s Gorillas {3) Cibbons
Howore TER L WA &
() et & @ Mg E @ e OO
Pacdogenesis refers to

(1) early development of gonad

(2) vetention of rudimentary characters i adult §
(3} retention of larval character in edult form

(4) retrogressive metatorphosis *

_~

o F _Ii] ,Rmsm mang?s

(P.T.0)
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R ma R Rt @ §7

(1) 60S + 408 Iygwreat (2) 508 + 308 ‘2qywreal
(3) 408 + 308 Iyt (4) 508 + 408 Iyl

B6. Thcchacofpmminsthatmarkthefmignptowimﬁxalimiﬁaﬁonm
(I) transporters (2) repressors
(3) hormones (4) immunoglobulins
m%ﬁMﬁﬁqﬁﬁhﬁ@.M&aﬁﬁ
(1) g () (2) fow (am)
(3) Bt (4) W

87. Minute to minute reguiation of Ca** in adult human is done by
{1) calcitonin e (2} parathormone
(3) vitamin D, (4) gucagon

wmﬂCa“!fmw~mkam&umt?
(1) SR . (2) Sl @) fafm . (4 e

88. The cartying capacifi.of.8 population is determined by its

(1) natality - (2) maortality

(3) limiting resources (4) growth rate

T & TE R R R g b

UR SR e (31!'@%-«11&;(
4

(17)
(P.T.0,)
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89. Which one of the following statements is correct?

(1) Glycolysis and oxidative phosphorylation take place in the cytoplasm

(2) Glycolysis takes place in the cytoplasm while oxid

occurs in the nucleus

ative phosphorylation

‘ idati ' lati
(3) Glycolysis takes place in the cytoplasm while oxidative phosphorylation

occurs in the outer mitochondrial membrane

(4) Glycolysie takes place in the cytoplasm while oxidative phosphorylation

occurs in the inner mitochondrial matrix

fafoifigd Hus & & 9 €8 B7

(l]mmmmmﬁwti
mmﬁmﬁammﬁﬂmamaﬂﬂ%ﬁaﬁvﬁﬂﬁmmﬁﬁm%
IS)Wﬂﬂmﬁﬁm%m%m@ﬁamﬁﬁmm

meAEteaa A d @ R

[4)mmﬁﬂmmﬂ@mﬁaﬁaﬁeﬂ%ﬁam&éwm

nrERad ViYg ® g @

90. Which one of the following is a terminator codon?

frfrfe § R FR wwE HE RY

(1) VAG (2) UAC (3) AUG

91. Acid hydrolases are packed in the

(1) mitochondria (2) nucleolus

(3) endoplasmic reticulum (4) tysosomes

28
(17)

(4y GAU
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TREIRE v W Tgar R

(1) ard=fa & ‘ (2) fFsiem 4

(3) wRrenfe Wgew (4) wreserT #
92. Vitamin B,, deficiency causes

{1] pernicious anemia (2) pellagra

(3) beriberi (4) xerophthalmia

ffr B, ® =t % wor W B 47

(1) R st (2) e

3) Ifaf (4) SwaTfem

93. Polytene chromosomes are found in
(1) salivary glands of dipteran larvae
(2) oocytes of vertebrates

(3) bone marrow of mouse

(4) liver cells of man

ﬂﬁrﬂam’ﬁﬁqwmﬁ
(1} R et % womfy & (2) %evdt & R sy &
(3) BT ¥ Yy woyr ¥ 4) P % e §

941 Fﬂmaﬁtm Of SDermaltc

1) spe s
(1) Permatogenests -ﬂwm

(3) spermiogenesis 4) maiqgs

(17)
(P.T.0)
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Wﬂmﬁsﬁmmmﬁmw%
(1) woReRE  (2) HaeARE (3) wREAEE  (4) ffea

95. The pyramid of biomass is inverted in

(1) freshwater ecosystem (2} forest ecosystem
(3) grassland ecosystem (4) Tundra

st # frofrs see W

(1) ey v iR ¥ (2) o urffeufeh &
(3) FI wiRFEafeR & (4) 3o3 1§

* . '3
96. Which one of the following interactions will not promote co-evolution:

(1) Mutualism (2) Parasitism

(3) Interspecific competition (4) Cn@mensﬂism
ﬁq%mﬁﬂmmmﬁmm-ﬁmﬁmqﬁtm
(1) FEATET (2) =

(3) TR whvarfren (4) SAATeTSH

07. The Watson-Crick DNA structure is also referred to as
(1) A form (2} B form (3) Z form (4) D form
aA-Te Sotolo W H FE S 2

)Am%ﬂ (Qle‘ﬂ 3) 2 FHF R (@) D 3w N
(1

30
(17)
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98. Which one of the following acts as an electron dnnor to the electron transport
chain in mitochondria?

(1) ATP (2) NADH (3) 0, (4) Pyruvate
wﬁmmm@ﬁﬁﬁwtmﬁmnmm
(1) ATP (2) NADH (3) O4 (4) wEEAT

99. Estradiol is synthesized mainly by the.

(1} thecal cells (2) granulosa cells
(3) lateal celis (%) stromal cclls
. Tofde w1 W ger ww @ R w2
(1) T iftmret @ (2) wiger St ¥
(3) ey Piiwsit 3 (4) Fme wfEed @
100. Bilirubin and biliverdin m derived from
(1) haemoglobin (2) angiotensinogen -
(3) globulin . (4) actia -
Rt w AR o 2
(1) ¥efes 3 (2) TR
@) =hgfem ORI
an | el )

P.T.0)

[ ]
gcollegedunlas
India’s largest Student Review Platform

el



17U/102/25 Set No. 1

Section—IV

Qrg—1v
MATHEMATICS and PHYSICS
(Mathematics)

101. The value of

-a gab ac
ba -b® bej
ac bc -c

is

—a® ab ac
ba -b® bc| @ WH R
ac be —-c2

(1) 4abc (2) a?b?c? (3) 4a’b’c? (4) abc
_ | N
102. If A is a non-singular matrix of order.3 and | A| =4, then value of [A |is

aﬁAqmqmmmtﬁaﬁaﬂﬁ*(m)3%am|a1=4,':ﬁ1A“|$l
oA R

4) 64
" 2 16 ® 9 @

if A={1,23} and B={x y}), then total number of relations from A to B 1s

® A={L23} ™ B={xy} @ AR B ¥ wad N w wew @
(2) 8 3) ° (4) 64

103.

(1) 6

32
17
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104. The value of tan 75° + cot 75° is
tan 75° + cot 75° % A

(1) 4 (2) 2. | (3) V3+1 {4) ¥3-1

18

10S. [fsin A+sin B=a and cos A +cos B =B, then the value °fmn{A+B) '

AR sin A +8in B =a W @A+m8=,&, at tan(A"'B)ﬂ M R
2

(1) of (2) a +B (3) E— (4) « —p

106. The value of ,[2'+1fé'+- J2+2c0588 is

Jz+.}2+,}§:2mﬁ A9
(1) cos® (2) 1+cosd (3) 1-cos8 M) 20088

107. The least positive integral value of n for w}ii’cﬁ)t‘{iff)?' 15 readd
-1

ntﬁmﬁqaqmﬁﬁm‘m%%q[%{ﬂuwmammr

(1) 8 (21“1 (3) 2 (4) 4

108. Itaandbaremutanf&:ﬁcu ' 2 hen
quation x” + x +1=0, then the value of g2 4 2 ;g

M a M b TR FII Ty ¥ ™ Wt w g
e & o ’ 4 -2

17 N

(P.T.0,
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! w
109. Three persons enter a railway compartment. If there are 5 seats vacant, in ho
many ways can they take these seats?

3wﬁwh%&ﬁﬁmmﬁlaﬁ&ﬁﬁstﬂiwﬂ%,a’l%ﬁmm
¥ w A w A g R7

(1) 60 (2) 20 (3) 10 (4) 15

110. The sum of the serics 17 +324+5% - to n terms is

ot 12432 452 4. % n W W PGA

-1)(2n+1)
n(n+1) @) n{2n-1){ 1)
P -
2 (2n+1)°
(3) nt2n3+1] (4) .

111. The value of

lirri -
X a x__q_
1S
in x-cosXx
lim o = W o R
x-l':; x-—-i-
(1) 0 (2) 1 {3) 2 @) 2
34

(17)
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112,

113.

114.

(17)

The value of k for which the function

k% &g 9w & e wem
1kcosx’ﬂ. Tl
f(x)={m-2x 2
3 ,if »=%
ismﬁnuaus_a:x=g?
n
=— Y Taa R7
o ?
(1) 2 (2) 4 (3) 6

The derivative of tan‘i[ olsafl J 1S

l+8inx
mnt{_co8x \ o "
l+sinx)
(1) — (2) tan x (3) =
sin? x | ~a.

The derivative of log tan (% + -‘;-‘)s. |

bgmn(—}+§) St 4
(1) cot x (2) secx (3) tan x

35
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(4) 8
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115. The volume of spherical balloon is increasing at a constant rate 25 cm® /sec. The

rate of change of its surface area when its radius is 5 cm is given by

T TR TER F AEE 25 om®fsec B B W A we w ¥, A wE B
TG0 & §eA 6l o 947 § Faih 39H AUF™ 5 cm B7

(1) 10 cm?/sec  (2) 5 cm?/sec (3] 8 cm?/sec  (4) 12 cm? [sec

116. The maximum value of function f ( x) = 2x® -24x + 107 on the interval [ -3, 3 |is
W f(x)=2x° -24x+107 T Affwan 79w [-3,3] 4 T 27

(1) 139 (2) 130 (3) 140 (4) 125

117. The function f(x) =2%% +9x? +12x +15 is decreasing on
G f(x)=2x° +9x% +12x+15 F BM FAA B
11) {1, 2] (2) [2, =) (3) [-2,-1] 4) (-, ~2]
dx ;
. The value of | ——=—=18
118 jx p

. WA 8
xyx® -1

-1 .3

@) ~tan™ x° +¢ (4) sec™ x+ ¢
3

36
(17
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119.

The value of J':E V2 -x? dx is

_[;@ V2 x3dx ® AW

(1) = @ - @ 3

w7

17U/102/25 Set No. 1

4

120. The area of bounded region between the line x =2 and parabola y? = 8x is

121,

(17)

1 32 . 64
@ aqm}us @) 73 squnits  (3) == sq units

8 .
(4) 5 8¢ units

myzzaxwmx=2ﬂ'ﬁﬁ@%ﬁﬂmt

(1) -—aﬁqm (2) —--q':fqarq:
The degree of differential equation
h _dy
S
' #__
is
(1) o (2} 1 (3) 27
d
el Wi y =Y, 2 ﬁzﬁ (i) 8
Ihy m,_
dx
(1) 0 Y TE) 2
37

(3) —-ﬂw

® < o

1) not defineq

.10,
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122. The equation of curve passing through the point (1,1) of differential equation
xdy=(2x* +1)dx, x#0 is

ﬁq(m)ﬂgaﬁwnaﬁmﬂmmﬁmﬁmmqm
xdy=(2x* +1)dx, x#0 &7

(1) y=2x2+log|x|+c¢ (2) y=x°+log|x|

' 2
(3) y=x%+log x+¢ (4) %"‘-’ +log | x|

— ,
123. Solutions of differential equation A y sec x =tan x 1s
dy R
HaFe] Ui —= + Y sec X =tanx

(1) y=secx+tanx+x+¢ (2) ysecx=secx+tanx+c

I(3) y=sccx tanx+x+c {4) y(secx+tanx)=secx+tanx-Xx+cC

124. Standard deviation of first n natural numbers is
Gwnall # uE e (SD) # WA R
Tom n TR ‘

1)(n+2)
21 n’ -1 q M1 @) nin+
(1) "12 @ 3 8 —- £

§. The variance of number of heads in two tosses of & coin is
126.

@ﬁﬁﬁaﬁmﬁaﬁm%ﬁ(ﬁﬂ)ﬁmwmm??

1 1
2 = 3= (4) 1
ll}‘la“‘ ”2 “3

(17)
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(Fhysics)

126. IfG cand hare &Icﬂmdamental constant, then the unit of time is expm-ased as
M G, c M h gy P &, @ w Ao W PR w3

(1) J—E (2) J—? (3) (—’(‘:-J - {4) hGc?

127. A projectile is thrown with an initial velocity of & < ( ' 4 » °
ile is thr clocity of u=(pi+q jjms™. If the ran
of the projectile is double the maximum height reached by it, then o

T 8T IS A u=(pieg ms ¥ 3 g By 4 vy w
ot o ms | T AR iy W wm R

(1) p=2q (2) g=4p (3) g=2p @) g=p

128. Three masses are connected as in th
ire shown in the figure :
fnc.twnless surface and pulled by a force of 60 N. The temgi;] ;n:j:t::

ratio

ﬁaﬁmiﬂam%‘ﬁmmmﬂ
m%l‘lﬁﬂ"ﬁﬁmi’iW.Zaﬁr“}ﬁg;::;m%q%mam

(1) 1:1 () 1:15 (3) 1:4 (4) 4:5
129. The wave described b in | : A
" 0°C By ¥ =025 sin {10nx - 2nt), where X i
and ¢ in seconds, 18 R-Wave travelling along the ——— Exa

P e direction with amplitude 63> m ana wavelength 9,

{2) -ive x direction Withfegaoney 1 1z R
(3) +ive x direction with ft‘eﬂuency % Hz and A = 0. 2 m

(4) +ive x direction with frequency 1 izg and .

__,._l-

(17) B 39
| (P.T0)
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4 =025 sin (10nx ~2xt), S X @ y W & 3 ¢ HH0 § afifa ¥ @ &
o _

(1) weHd x fEm H ST 025 m 91 a0 A =0-2 m

(2) womarE x fowm ® 3 1 Hz

(3) wTens x T # @Al « Hz 9 A=0-2m

(&) wEE x i & sgR 1 Hz WA =0-2m

130. The coefficient of friction between rul?ber rtyreu and thefma?wa{ gilsm Ojithouet
maximum speed with which car can drive round a curve oi radius

skidding (take g =10 m/sec?)
tﬂéﬁ‘aﬂtwlm%ﬁ'ﬁﬂmmo'zmmmgmmﬁmﬁaﬁmﬁm
mﬁﬂﬁﬂ“ﬁﬁﬁmi%gﬂofn/sw)

- : -1 14-4 km h!
(1) 360 km b {(2) 180 kmh ' (3 216 kmh” ()

i re to that at constant
. of specific heat of a gas at constant pressu
o Izﬁ,x:r?:?s ¥ T‘lﬁ change in internal energy of one mole of gas when volume

changes from V to 2V at constant pressure P is

2| v md TREEs
o Frq o W e @ Rl IS w AT 7
qugjﬂm%,?hlﬂaﬂammmiﬁﬁmmpmqﬂaﬂ?m
IV

ad 4
R R O V-

c;;:il;aﬁsﬂ-m el r, T 7, (r,=1.57,) A 1 K TH F {0
Fol T IPTE T

3 3) (2 @ 1
() (?'g-} @ (3] @ (3)

40
(17
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133. A hollow p1pe of le_n_gth 9-8 m is closed at one end. At its open end a 05 m fong
e stnng is vibrating in its second harmonic and it resonates with the
a1 damental frefiuency of the string. If the tension in the wire is 50 N and the

speed of sound is 320 m/sec, the mass of the string is

T 08 m W TRy R ¥ a ¥ oy RR R 05 m wmh w e

50 N aur = $it nfy 320 m/“mzﬂﬁwﬁﬁnw gl 1R md mm

(1) Sg (2) 10 8 (3) 20 g (4) 40 g

134. If his the height of capillary rise and r be the radi '
. . _ radius of the capillary tube, th
whchomdthchﬂomsmmmhzmt? o "

(1) hr = constant (2) h/r? = constant

2 —_
{3) hr* = constant [4_4 h{r = constant

R h i S w r DR TN RO R R

tlj }u. =_ |:‘q ii:la; 4 m _MK?IF.ﬁ. 'I"“‘ | ' [3) h!'z =”m (4) h{r_: ﬁm
138. The level of water in a tank is 5 m hi -
PR o iy el : hlghn 2 ~ .
the bottom of the tank. The rate o mmw “m_ is made in
9210 mfsech e e rate of 1€8Kkage of water from the hole is (take

@éﬁﬁmﬂﬂﬁ-\;mhglm.%mm AT TR
B II y c 2 W ‘
T R g Gl ia e L NESETE (PR o= 10 m/sec?) o "

(1) 107%m*/sec (@) $0~4m’ fsec  (3) 107 m? /e (4} 103 m3;
Al SCC

(17) 41
PTo)
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. H . e
136. Two metal wires of identical dimensions are connected 1n'9‘.eru.':'e‘..cll’f'ul ::z;;:1 f; 1:; t% f}l;e
the conductivities of the metals respectively, the effective con
combination is

ﬁrmﬁmﬁtﬁum%mmﬁﬁmﬁsﬁ?%luﬁniqumﬁa
el B, @ 38 HAeA & YR diernal 39 B

251132
(0, +0>)

(1) {04 +0,) (2) (ﬁ-';—"fi) @) yo,02 @

137. Two plane mirrors M, and M, are arraqgef:i at right angles to ea::i otil::;ra;
shown in the figurcs below. A ray of light is incident on the horizontal m

an angle §. For what value of 6 the ray emerges paraliel to the incoming ray after

reflcction from the vertical mirror?

=
mj
;7777

(1) 60° (2) 30° (3) 45° (4) All of them

ﬁmleamuzwwW-ﬁ%mﬁﬁﬁﬂ%l%m
?%maﬁazdmu,utmﬁmile%ﬁmm%mmaﬂmﬂﬁvhﬁm
st frm ¥ wme Enlt?

M,

M,

(1) 60° 2) 30° (3) 45° (@) 3w wh

42
(17)
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138. The power of a water pump is 2 kW. If g =10 m/sec?, the amount of water it can
raise in one minute to a height of 10 m is

T AT T R g 2 kW R AR g=10 m/sec? %, @ @ 1 e # 10 o
39 o R w 3a1 o 27 ;

(1} 2000 litres  (2) 1000 litres  {3) 100 litres (4} 1200 litres

139. A ring of radius R. ¢srries a charge Q, uniformly distributed along its
circumierence. What is the ratio of the electric field strength at a distance R to

that at a distance -—R- along the axis? ¢ . .

V2
QT BRI R % 1w w5y d foka 81 dge 4v ¥ dam an

SE I I
= @ | = ®\em 55)

140. When a current of 2 A flows in a BATEETy oM Megrive to positive terminal, the
potential difference across itl is 12 V. If a current of 3 A flowing in t“hc opp;site

direction produces a potential difference of ISV, the em.f. of the battery i
) is

@ A F 2 4w, ¥ o e |
W R F 49 3w w2 "3-“‘%%@2”%3'*%?1”
A 8, 0 R 15 V_IFE R 2| 828 51 Roato s B o

(1) 126V @QLIZ2V .. @ 185V 4) 140 v

(17) 4@
: ‘ (P10,
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141.

142.

143.

(17

Five resistance each of 10 are connected as shown below. The equivalent
resistance between points X and Y 1s

ﬁﬁn&ﬁaﬁsnﬁlﬂﬁmwnm%tﬁ@ﬁxwrﬁaﬁagﬂmq
g

10 Q

(1) 200 (2) 50 (3) =0 (4) 10Q

= . .
A plane electromagnetic wave, E, =100 cos (6x10%t+4x)Vm™, propagaung in
a medium of dielectric constant is

o dgd Peais TN * O dya g a0 E, =100 cos (6x10%t+4x)Vm™
fqm g

An equilateral triangular loop is made up of wire of umform resistance. A
current I enters through one of the vertices of triangle and exists from cét'twa;
vertices of the triangle of side a as shown in figure below. The magnitude 0

magnetic field at the centre of the equilateral triangle loop is

(4) zero

[ ]
gcollegedunlaa
India’s largest Student Review Platform

—



144,

145.

(17

17U/102/25 Set No. 1

4t o Ol 3‘\[—3}1
;| (peel B g v Svauel
M 2 (2) 2_% ) = (4) T
A beam of natural light falis on a system of 5 polaroids, which are d in

amtmmmmﬁmmtiﬂm%mmmtﬁs
mmw#m-mmmma*mmmmmmm

1 1
gL 1 1 ]
) = @ & - B o =
The power factor of the circuit as shown in the figure below js
4 2 R R F vz o o #n |
. — If: —
(1) 0-2 2) Qg B oo 4) 06
45

P.To)
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146. An NPN transistor having a.c. current gain of 50 is to be used to make an
amplifier of power gain of 300. What will be the voltage gain of the amplifier?

wﬂpyﬁﬁmﬁlﬂmquﬁﬂomﬂimaﬁapowﬁﬁﬁ?wéhmﬁ
we fen T ¥ ofRewm w1 fava T R @

(1) 85 (2) 6 (3) 4 (4} 3

147. The following network of gates is equivalent to
A ® T = Aok e W g W wm?

Av — i y
BHﬁ P—J
A=) @ = © —Do-

\7

[ =

148. Calculate the equivalent capacitance between points A and B of the network for
each capacitor is 2 F

AO— A Ty

+ = T T 7 Toinfinity
BO———-—nLiH-——-H——H——J ----------

1) 2(1+¥3F @ (A-F @) W3+)F (@) 2(3-1)F

46
(17
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---------

and &“ﬂﬂ rtinla- ~w

- ¥ ratio of
e Ol Number of
. TR T | S ~Fy
s > s
1 A"Z‘lz e
t) F.g (2 "Lzﬂl (3 A"Z.*«i‘-’!
(z-1) ' Az
zoy
(17) 47 b
P.T0)
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gection—V
BwIs—V
AGRICULTURE
ate belongs [0 family S —
gy (2) Cariaceac (3) Rosaceac
(1) Solanactac
ot fea HE & qut 27 + ,
drerdt (2) W (3) T faud
(1)
.o A is higher in |
152. Pereentoge of vltam;; - N - . .
(1) carrot
ﬁmﬁﬁaﬁiaﬁwmﬂﬁ%? -
| (3) ¥
(2) A
(1) TR
' ar
53 Etawah Pilot Project Was started 10 the ye
153. ?
e Eﬁ 4) 1960
- . (2) 1950 (3) 1952 (4)
) " the year
taunched 10
d Rural Development Programme (IRDP) was ?
= ;qﬁanmgrat:m Ry T (mﬁﬂmn@o’iﬁo) fra ¥ ¥ §§
(4) 1980
70 ) 1975 (3) 1978
(1) 19
48
{17
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{1) Gram (2) Qoyabear | qﬁ % ?
& pae W § e B .

(2) BHAEHA (3) T
argest rice producer?

(4) W&

] ! 1
. 1. one of the following States 18 the
163. Which o pe
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(1) Kan ‘
. pur (2). Jaipyr 3) N B
e B T 2 g e e o Del
(1) -
156. Wh::z th ol (3) g @) ¥
o ¢ following States cultivate Tice in Rabi seagon also
ﬂr—um:ha o s @ e ( ?
—ar ' 4 Up
{ ﬁﬁiﬂ?mmmmﬂlﬁqﬁﬁwm?:
1) aﬂﬁm . .
187. o : ki (3) werww
Pen pollination takes place in 4) 3w Y3y
(1) paddy 2 :
- @) maize (3) wheat '
e RIC et E.'HT %? {4) Peg
(1) um
laa (2} “ (A e
whlch one of the fﬂ“ . Cmp;'“ 5 ‘4} m
(1) paddy ’ L
7] ‘ﬂ-‘ﬂ:[_m 2 — —— 4) peq
.. @) 7w e
189 Thc prc g (4] qzt
a:upursf:t V:cf-ChaneeHor of the Centray Agricultural
57 mm&lt}" Impha!’

P.T.0,
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164, Phosphorus is present in DAP in the form of

(1) phosphate (2) phosphoric acid

(3} phosphaide (4} All of these
ﬂ»q:%ﬁﬁ‘@!ﬂhﬂﬁmmt?

(1) wiede (2) vl wRe  (3) e (4} 37 Wi

165. Early blight of potato is caused by

(1) fungi (2) bacteria - {3y virus .. _ (4) nematode
L H aridh s (el ) P g gy '

(1) w5 (2) Sy (3) fermyy - [4) Pdre

166. Malformation discase is cammon in

(1) banana (2) mango (3) guava (4} coconut
g (i) a1 Al i TR s 27
(1) S (2) am (3). 3T, (4) niwm
167. Moiecular ] ' ’
ocutar breeding helps plapt broeders i ___
(1) umvcmcnt in a popular varicty

2) 4 5 3 N e
(2) developing completely a new va risty

(3) developing transgetitey=
(4) None of these

(17) 51
(P.T.0)
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(1) drela frel ¥ gae d @) fega 7 frm =W #
(3) Fif = | (@) ¥ & g T
168. Khaira disease in rice is caused by
(1) bacteria (2) zinc deficiency
(3) boron deficiency (4) fungus
am & du am fFe o fa k7
(1) e @ ~ (@) fis 6t =0 A
isnhﬂqaﬁtaaﬁir @) w0 ¥

169. Alternaria blight in mustard 1s caused by

(1) hacteria (2) virus (3) fungus (4) nematode
m‘iiwfamﬂ(amﬂﬂmm}mmﬂm%?
(1) g R (2) Ty & (3) $§& 8 (4) Prirde ¥

tb
170. Food prepared by leaves are transported to all parts of the plant DY

(1) xylem (2) phloem (3) parenchyma {4) phellogen
qﬁmwmmmmtmwﬁﬁiﬁmﬁ?

(1) e () T (2) TR RO
(4) B TN

52
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171. Which one of the foliowing. is responsible for ripening of the fruits?

(1) Ethylene  (2) Ethanol
(3) Acetic acid (4) Gibberellic acid
Feferiem o 3 e o wor vt §7
(1) WRRe g (2) ¥ zm
3) i oz (4 Sefirs qfie gz
172. Golden rice is known for
(1) high vitamin A | (2) high protein
(3) high calcium (4) high zinc
THEen e (ede vw) fem g v 37
(1} ¥t R A ¥ R (2) e WER- % R
(3) s Hfwaw  fig (4) o R & R
173. Mallika is a variety of | |
(1) apple - .q9). - K
mmmyw o S,
(1) &= H 2) am (3)?Htﬁ (4) vt &
178. Ifagene from fisn introduced into tioe, then this rice plant wi be known as
(1) mutant plant .- 42) hybrid plant
(3) double haploid plant  _ (9) trapsasmic plant
a7 g 3 53 "

P.T0,
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#ﬁm%ﬁﬁaﬁmqﬁaﬂqmﬁmaﬁ,zﬁﬂwmﬁmmwﬁm?
(1) Iwafafda d (2) g Qe
(3} eaw geme (4) ZFEATAE e

175. Crop belongs to Brassica juncea is

(1} wheat (2) rice (3) mustard (4) yellow Sarson
F-dt Gue FF T F AT A 27
() A (2) 9 (3) s (4) et T

176. Which one of the following Indian Scicqti_sta_ was the Director General of
‘International Rice Research Institute’, Philippines?

(1) Dr. B. P. Pal (2) Dr. M. S. Swaminathan

(3) Dr. R. S. Paroda (4) Dr. R. B. Singh

S § @ @ Wl AnfE rdgia TEw sEen g, B %
TS 4 ¢

(1) S0 e fo v (2) &0 WHo THo THMATUT

(3) To Mo TWo TF (4) o amo o TR

177. Mutation is generally
(1) recesgive and harmful (2) dominant and harmful

(3) dominant and useful (4) recessive and useful

o4
(17)
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IefEds ym: & g 27

(1) SRl vy (2) wowlt qen g

(3) st Far Iqift (4) vl T Fagf
178. Who is regarded as father of hy_bridl tice?

(1) G. J. Mendel (2) Yuan Longping

(3) R. H. Richharia (4) G. s. fr;(h:srij

FH TR GH H IFE W G 27

(1) sfto Fo AW (2) 3T i

(38} Mo o Poafer - © (4) ¥t e

179, Which one of the following is known as Powerhouse of the cell?
(1) Chromosome (2) M1tochondna (3) Ribosomes  (4) Chloroplast
Preaffes § & 219 TifRm 5 T FEAT 27

(1) TREA (wrirei) - (2). B, mmﬁn)
(3) W”m‘lta (4) TR
180. Which one of the following is us;cd as biofertilizer?
(1} Rhizobium culture (2) Trichoderma
(3) Azola - . 4) Alk of-thveas, .
At & @ 4 379 W & w0 ¥ o dug;
(1) T e (2) TRt
(3) I | 14) IWH [
am 55

(P.T.0)
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181.

182.

183.

184.

(17)

Uracil i1s present in

(1) RNA (2) DNA (3) Both (4) None of these
qite e wwn 27
(1) SARTAoTo (2) FoTHolo (3) A (4) 7 & W8 &

Browning symptoms in cauliflower is due to deficiency of

(1) boron (2) iron (3) zinc (4) molybdenum
Wﬁ*ﬁﬁ*ﬂmﬁw%ﬂﬁﬁiﬁﬂ@m%?
(1) = (2) e 3) Fom (4) Wi

‘PGPR’ is concerned with

(1) beneficial bacteria in plants (2) harmful bacteria in plants

(3) beneficial fungus In plants (4) harmful fungus in plants
“Poftoftosme’ Frad T T@a 7

md’rﬁﬁmﬁﬂ?ﬂ'{; (2) dtal & FFEEeE Sy
(3)11*!97#6{1@*%@ @) el § TEeeE TR

Which one of the following can be grown suitably as an intercrop with whea t?
1
() Sugarcane  (2) Pigeon pea  (3) Potato (4) Mustard

e %mm;m[mﬁ)%mﬁmmm%?
effaa 8 @ P TR

(2) (R 3. @)

56
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185. The Indian Agricultural Research Institute is located at
(1) New Delhi (2) Hyderabad  (3) Bengaluru  (4) Lucknow
Rt FY SgEAR do w4 |
(1) 7§ feght & (2) Rzweme ® (3) e (4) TETH o

186. Grasshopper belongs to Order

(1) Lepidoptera  (2) Orthoptera (3) Isoptera (4) Blattodea
s fu sty w1 e 27
(1) SR (2) A2 {9y omprRe—— R

187. ‘SR’ is a method of

(1) paddy cultivation (2) rapeseed cultivation
(3) wheat cultivation (4) sugarcane cultivation
ER R TR T

(1) wm f @R (2 A H &R @ AN @ m @

188. Aphid 18 a major problem of |

(1) wheat TZrmmstera——.  (3) pea (4 barley

et (Uf5S) A weer F Sty w27

(1) %" - (2) T (B T @) s
-

1n -
(P.T.O.)
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189. Triticum aestivim is the botanical name of

(1) paddy (2) maize (3) wheat (4} jowar
PR ufRqw fraw arwdlie T 7
(1) & (2) W (3) M (4) ST

190. Neelam and Dasheri are the parents of vanetics

(1) Mallika and Amrapali (2) Mallika and Langra
(3) Langra and Alphonso | (4) Amrapali and Langra
W@zﬂ%ﬂm%ﬁﬁ%ﬁi%ﬂmﬁm%?
(1) = @ S @) w5 @
(3) MY T HEHH (4) AR @ o
191. Ashirwad is the variety of
(1) mustard (2) sesame (3} linseed (4) groundnut
asfate e waw & e k7
1) T (2) fo= (3) dwh (@) e
192. Which crop is being used as green manuring?
m' Sugarcane (2} Sesbania (3) Rice (4) Maize
ﬂa-ﬁmsﬂm%mmﬁwﬂ.a?
(1) T @) *= (3) U (4) W
58

(17)
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Which of the micronutrient is most useful for enhancing oil content in mustard?

(1) Zinc © (2) Sulphur (3) Iron (4) Boron
ﬁwl%rfmﬁém-wqmamfraaﬁwmﬁmﬁ%?

(1) fom (2) T (3) it (4) W
T—— ;:ezécucage of protein is available in wheat grains?
W R R e o 2

(1) 9 to 13 (2) 15 to 20 (3) 22 to 25 [4) 28 o0 30

(1) Maize {2) Rice (3) Rajmash (4) Sugarcane
ﬁwﬁmwﬁﬁﬁmwﬁmﬁzﬁamﬁmﬁ%?
(1} = (2) 9&& | (3) rowEr. (4} =T

For reclamation of alkaline soil we use
(1) gypsum ) Jime

(3) urea (4) murate of potash

W 5 GO ¥ W P v e €7

(1) foram (2) (3) 7fen (4) T 31 g
Range of correlation coefficient (r) js .

(1) - to + (2) ~1 10 +1 (3) 0to 1 (4) 1to 2

(P.TO)
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WmlrlﬁWW%?

(1) ~o q +w 2 -1 8 +1 3 08 1 4) 182
168. ‘Pusa Nanha’ is a variety of which fruit?
t
(1) mango (2) papaya (3) guava (4) coconu
‘mm AR R e R qonfy R 7
(1) 3™ (2) g4t (3) (4) S

16, then what will be the treatment degree of

199. If number of treatments are

(1ccduin?
I = # e 1ﬁi,ﬂmmmmm@mr
(1) 13 (2) 14 (3) 15 (4) 16

200. CEmasculation in paddy is preferably done 1n

(4) afternoon

(1) night (2} noon (3) morning
g # e # 3T W ?7
(1) Td (2) AT (3) & (4) AT 1
* hw
60 D/7(17}-2100C
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ssfqal & feg W

(waﬁmé‘;mw-qammm—w%aﬁqﬁmmﬂeﬁmmm-méahfaafwﬁ)

10.

11.

12.

13.

14.

.mgﬁmﬁaﬂ%wﬁn%mﬁ&ﬂﬁﬁmﬂmﬂ@mﬁ@§aﬂtﬁim

@ﬁ%lgﬁtmmmwwﬁmmmﬁnﬁﬂﬁaﬁ%wmﬁmﬁ
gt gferm wm & |

LR CE Wrmm-w%MﬁWmm#ﬁqumﬂﬁnﬁm

W—G&Tﬁmﬁﬁmﬂm%lm?ﬂﬂﬁm?ﬂﬁ??ﬁfmmqﬂ'?ﬁﬁﬂm Facl Io-
97 W & qewET f&m WEmI

WWWW-WEHW?WW—EFWW@ﬁmWWW‘

wnﬁanmqnmh#mWﬁﬂfﬁammhﬁwﬁﬁﬁqﬁﬁmmil
Wﬁ-aﬁwﬁmm-gﬂammmmﬂzmwmmmﬁﬂﬂn

dllo Ao HWo WA W IFFAS WA, m-gfmmu’maﬁzmmﬁ:ﬂé?) Ao AE-YiEa T
FTEAIE Wo AR e e Mo W wo F Wil # weferan # sl A ¥

Wﬁﬂl?ﬁ?ﬁﬂéﬁmmﬁﬁmmwﬁmmmﬁﬂm%@aﬁammwn

3 W-Wﬁmmﬂ?wﬁmmﬁﬂﬂﬁﬁlmﬁmtmwﬁﬁﬁmaﬂ%

w#mﬁwﬁ%tmﬁﬂ#vﬁw#m—w%mgwﬁ#ﬁﬁﬁ#%mh#w
F £

muﬁ#m%ﬁﬂﬂmwaqﬁﬂwﬁ:@ﬁaﬁmqﬁaﬂwaﬂmaﬂmt@a
g9 @ o W W AE IW W WA W

méfm@mwrﬁ’rmﬁﬁmﬁﬂtmqﬁmm%mﬁmfmﬁmma:maafﬂmmﬁ
Eﬁraaﬁﬂaiﬁiﬁ:ﬁmﬁﬁﬂnﬁaﬁqﬁ%&mﬁﬁ;ﬁu@mﬂm@mﬁﬁaﬁm

mmkf‘?ﬁmﬂﬁm%w%wa@wﬁmaﬁnwmmﬁ|

el ® W FIA@ SHoTHeIHRo FoT-vy GO WEA A W W 3
qﬁmmﬁﬁﬂﬂﬁwﬂwmﬁmaﬂﬂmﬁiﬁtﬁn
w&aﬂ?amﬁfqﬁmﬂaﬁamuﬁmuﬁmmt.fﬁaﬁmmmmﬁafﬁ?nam,mrfr

il
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